	1.Найти логарифм числа:

     а)     81 по основанию 
[image: image1.wmf]3
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;

     б)     9 по основанию   27.

2. Вычислить:

     а) log10(10
[image: image2.wmf]5
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);             в)  152-log159  ;
     б) 63log63;                       г)     log2log4256.
3. При каких значениях  X   cуществует 

    логарифм:

    а)  log3(1-2x);      б) log2 
[image: image3.wmf]1
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;

     в)  log5 (3-2x-x2) .
  4. Решить уравнение:
     а)  log
[image: image4.wmf]3

(4x-3)= 4 ;

     б)  
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	1. Найти логарифм числа:

       а)   64 по основанию 
[image: image8.wmf]16;

       б)  625 по основанию 
[image: image9.wmf]5
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.

2. Вычислить:
        а)   lg10(
[image: image10.wmf]3
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) ;       в)  102-log104;
        б)   74log72 ;                  г)   log9log327.
3. При каких значениях  X  существует 

    логарифм:

    а)  log4(3-4x);        б)   log7 
[image: image11.wmf]4
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;

    в)   log3 
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4. Решить уравнение:

    а)   log
[image: image13.wmf]2

(3x-4) = 6;

    б)   9
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- 28 = 0 .




	1.Найти логарифм числа:

     а)     32 по основанию 
[image: image16.wmf]2
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;

     б)     25 по основанию   125.

2. Вычислить:

     а) log10(100
[image: image17.wmf]3
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);             в)  122-log126  ;
     б) 54log54;                       г)     log4log264.

3. При каких значениях  X   cуществует 

    логарифм:

    а)  log4(7-6x);      б) log7
[image: image18.wmf]4
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;

     в)  log8 (3x-2-x2) .
  4. Решить уравнение:

     а)  log
[image: image19.wmf]5

 (5x-1)= 6 ;

     б)  
[image: image20.wmf]x
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+240 = 0.
	1. Найти логарифм числа:

       а)   243 по основанию 
[image: image22.wmf]27;

       б)  343 по основанию 
[image: image23.wmf]7
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.

2. Вычислить:

        а)   lg10(
[image: image24.wmf]5
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) ;       в)  142-log1449;
        б)   43log45 ;                  г)   log27log5125.

3. При каких значениях  X  существует 

    логарифм:

    а)  log5(5-7x);        б)   log6
[image: image25.wmf]3
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;

    в)   log2 
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4. Решить уравнение:

    а)   log
[image: image27.wmf]2

(4x-7) = 8;

    б)   
[image: image28.wmf]0
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